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Place the readings for the cakes in order on a number line.
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The scale is set to reject any cake that is more than 3 ounces from the target weight of 30
ounces. Which of the cakes would be rejected? Select all that apply.

© Acake with a reading of -1.2 0z. O Acake with a reading of -5.3 oz.

© Acake with a reading of 2.7 oz. O Acake with a reading of 3.1 oz.
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The Tasty Treats Cake Factory bakes cakes to sell for a grocery chain. Each cake is weighed to
see how close it is to the factory’s target weight of 30 ounces. The scale shows how close the
cake’s weight is to the target. The scale will display:

/

+ Apositive number if the cake’s weight is over 30 —

ounces. |
« Anegative number if the weight is less than 30 ounces.
« Zero if the weight is exactly 30 ounces.

~——

On Monday, 3 cakes are weighed. The readings for the cakes are -2.1 ounces, -2.9 ounces, and 1.2
ounces.
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The table shows two readings from the scale on Tuesday.

Cake Reading
F -5 0z.
G -3 oz.

Which of the following statements is true?

© Cake F weighs less than Cake G © Cake F weighs less than Cake G
because -5 < -3. because -3 < -5.
© Cake F weighs more than Cake G © Cake F weighs more than Cake G

because -5 < -3. because -3 < -5.
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On Wednesday, the factory records the weights of 5 cakes. The reading with the largest absolute
value belongs to:

© The cake that weighs the least. © The cake that weighs the most.

© The cake that is closest to the © The cake that is furthest from the
target weight. target weight.
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